| 130) ) 1 YR YGRS hATD
Question Booklet No.
O.M.R. Serial No. TeYRahT RRToT

Question Booklet Series

A

L.L.B (First Semester) Examination, 2021
LLB104

LAW OF CRIME PAPER-I (INDIAN PANEL CODE)

Time : 1:30 Hours Maximum Marks-100

o - 1.

796

O 0% 8l 1 99, §9 TEYRAST I 7 el

et o S, v vd yegRae o RIS &1 faaRer aureme wdi- 98 W, sFgen
TR H el W gR @ fadi 1 g9 § Iuel forwer) W el @ 8|
39 TegRa® § 100 W & R | Badt 75 e & SR el gRT Y 9N } | Qe

T & IR IB(ID SRk W & 9 [ T8 2| §9 9N ¥ 9§ dadl U & Sk ¥l ¢ | for
TR Pl AT TE AT FIY Sfod FHI €, U Sk @@ (0.M.R. ANSWER SHEET)
i TS R I T B Bt A7 Al 1 Wige W W [ R | AR fre wemeft gwr
fEiRT 7o 9 % Ul & SoR ¥ 90 § @ 9 §WT & 6l T Wer: e fAfde
Tl BT & Jeid fhal SR |

TF T B b TN € | MY b 9 SR el 8, Il b AFAR b JIM B SR |
T SR DA MoTHRMRe IR 9% (O.M.R. ANSWER SHEET) W & fod o £|

IR WG H ERT I & srermar o= dEl WA T ISR A AR S |

HoTHoRo SR U3d (O.M.R. ANSWER SHEET) W §5 I forg & qd I8
ERAGCIRCE CRIKIISIER IS CEaR AR IRT Of

qe AT & S werell wer FREd B U JegReT gabelc Ud 3floTHoRo ¥ie
Q-G SUTE PR G a1e & TN Del I IR &R |

fritfea mfeT 781 2

TEYRA®T Blem T UMd: W X 9@ o o TegRaer & W I% Wemifa 8Y §Y §| IR
TEYR®T § Pig DA 3, O DE RS 31 feamax SH RS @ gEd TegRaeT ara 9
|



Series-A LLB 104 /796 Page - 2



Who was the President of the drafting
committee of the Indian Penal code?

(A)  Lord Bentick

(B)  Lord Curzon

(C)  Lord Irvin

(D)  Lord Macaulay

The Indian Panel code came to into force on:
(A) 06 October 1860

(B) 06 December 1860

(C) 01 January 1861

(D) 01 January 1862

“Crime is an act committed or omitted in
violation of a public law forbidding or
commanding it”.This statement belongs to:

(A)  Stephen

(B)  Black Stone
(C)  Henry Maine
(D)  Kenny

“Crime is an act which is both forbidden by law
and against the moral sentiments of the
society.” This statement belongs to:

(A)  Black Stone

(B)  Kenny
(C)  Stephen
(D)  Austin

Not an essential element of crime:
(A)  Human being

(B)  Criminal Mentality

(C)  Wrongful Act

(D)  Preparation

Mens Rea means:

(A) Act
(B)  Result
(C)  Motive

(D)  Mental condition

Which of the following is incomplete crime:
(A)  Public Nuisance

(B)  Criminal Attempt

(C)  Unlawful Assembly

(D)  Roaiting

Mens Rea is Propounded by:

(A)  Equity court

(B)  Chamber court

(C)  Common law court

(D)  Privy council

Which of the following case is not related to
Mens Rea:

(A)  R.Vs. Prince

(B)  QueenVs. Talson

(C) R.Vs.Govinda

(D) State of Maharashtra V's. MH George

IR U GRdT & Ureuv AR B el HiF
ofr?

A) @ Ifed

(B) @€ @

(C) o =fA

(D) S Harel

WRAIG U8 Wfedl U 8%
(A) 06 3T 1860

(B) 06 fawwR 1860

(C) 01 ST 1861

(D) 01 ST 1862
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3RTET BT T AITTH Ted el § -
(A)  wrg wrofh

(B) TR w: Rerfar

(C) vyt ard

(D) &

w1 Rar g @

A @

(B) uRvm

(C) egP

(D) MRy T
frfoRad # & @19 91 31gol SRy B
(A @S Sya™

(B)  SMRIFEIG YI

(C) fify fowg wm@
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10.  Which of the following case is related to the 10.  fr=foRed & 9 @19 &1 915 929 &) 49 9 FHa
mistake of fact? ?
(A)  R.Vs.Prince (A) IR T o=
(B) R.Vs. Talson (B) 3N, g9 <Tedq
(C) R.Vs.Govinda . (C)  oIR. T MR
(D)  Gyan Kaur Vs. State of Punjab (D)  §F BR T T
11.  D.P.P.Vs. Biyards case is related to: 1. AW W IS o1 AW TR 2
(A) Mistake of fact (A) T D 9
(B)  Insanity (B)  UNTATTH
(C)  Private Defence (C)  wrgde wfewen
(D)  Intoxication (D) e
12.  Vimla Devi Vs. Delhi Administration case is 12, foHer <& oM ool IR &7 ATel R 8
related to: :
(A)  Fraudulently A) TR
(B)  Good faith EB;
(C)  Negligence "
(D)  Above all (g; ﬁéﬂ_ﬁzﬁw
13. Which of the following is not correctly matched? 13, f=fafed § 9 &1 &1 ™ [ gAferd o7
(A)  Person-section 11 (A)  SfR—ERT 11
(B)  India-section 18 (B) WRI—RT 18
(C)  Death-section 46 (C)  Teg-4IRT 46
(D)  Harbour-section 52 (D)  TSR—8RT 52
14.  Which of the following Section defines offence? 14, fy=fafed § 9 o9 W g7 oREy @ gRwifa
(A) 40 H &7
(B) 41 (A) 40
(C) 42 (B) 41
(b) 43 (C) 42
(D) 43
15. Which of the following Section is not related to 15. fHfafied 4 & a9 @ g1 Wge <@ 9@
the joint liability? TR e 87
(A) 34 (A 34
(B) 35 (B) 35
(C) 36 (C) 36
(D) 146 D) 146
16.  Which of the following Section contains 16. = 4 9 o9 av7 & 99y R W wRfid
provision related to the common intention? g 27
(A) 34 (A 34
(B) 149 (B) 149
(C) 37 C) 37
(D) 39 (D) 39
17. Mahboob Shah Vs. Emperor case is related to? 17. 7249 W8 §9M TR I A TR 87
(A)  Common object (A THNI I
(B)  Same Intention (B) =M IMm™
(C)  Common Intention (C) WMM 3l
(D)  Joint Intention (D) EYF M
18.  Which of the following is not correctly matched? 18. /1 4§ 9 @I 91 |el GHferd T8l o7
(A)  Gender-Section-08 (A)  felT—uw—08
(B)  Public-Servant Section-21 (B) dHgH—eR-21
(C)  Voluntarily-Section-38 (C) EU-YRI-38
(D) Injury-Section-44 (D)  &ft—aR—44
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19.  Which of the following Section contained 19. 9 4 9 59 a1 ¥ Sy SIRew d ke 9
Provision related to the Protection against Frfad yrqu i 2
double Jeopardy: (A 3
(A) 3 (B) 53
Eg)) ?? C) 7
0 75 (D) 75
20.  Which of the following Section is based on the 20, Y9 H 9 P9 @ ORI el T e seRaT @
rule of volenti non fitinjuria? oo W) e 27
(A) 87 (A) 87
(B) 92 (B) 92
(C) 93 C) @
(D) %4 D) o4
21.  Adinstigate B to murder C. B refuses to do so. A 21, T O U PR B [IU G Bl b IHAMT 2 | G T
is: W TIR IR A 8| T &
(A)  Guilty of abotting B to commit murder A THFTHAD R D zg&jw CaRcL
(B)  No offence (B) I W TE
(C)  Attempt to Murder (C) &P Y
(D)  Criminal conspiracy D) TR vea=
22.  Which of the following Section is based on the 22, 9 d 9 oF A gR1 IR A R®Re o @
maxim “Dominis non curat les™? g@a W Ry 27
(A) 81 (A) 81
(B) 86 (B) 86
(C) 94 (C) 4
(D) 9% (D) 95
23.  Which of the Section Propounded the doctrine 23, 9§ 9 o9 W urr figy ommor @1 Rige
of transferred malice? gfoarfed axt 87
(A) 81 (A) 81
(B) 109 (B) 109
(C) 149 (C) 149
(D) 301 (D) 301
24.  Which of the following punishment cannot be 24, 99 # W BH W TUS WRAN SUS AR @ arfE
awarded under the Indian Penal code? T8 foar o godr 27
(A)  Death A 7Y
(B)  Imprisonment for life (B)  aMofiad BRIAN
(C)  Transportation for life (C) <ol fyarer
(D)  Forfeiture of Property (D) G 1 HuERT
25.  Which of the following Section is 25. 9 9 oF W GRT SRiG #
Unconstitutional? (A) 201
(A) 201 (B) 303
(B) 303 (C) 301
(C) 301 D) 309
(D) 309
26. I calculating fractions of terms of punishment 26.  cUSffdl @ f @ AT eRe W oarmolas
imprisonment for life shall be reclosed as FREME B fha a9 & BREA™| & Jed [
equivalent imprisonment for? STTT?
(A) 14 (A) 14
(B) 12 (B) 12
(C) 20 ©) 20
(D) 10 D) 10
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27.  Maximum Limit of Solitary confinement is: 27. UG URRIE @ ifSddH 3rafer @
(A)  One month (A) TP HE
(B)  Three month (B) N WE
(C)  Sixmonth (C) w WE
(D)  One year D) TP a¥
28.  Nothing is an offence which is done by child ~ 28. @IS 9Id SR 8 8 O 9§ & &4 Y & Iy
under years of age: GRT &1 ST &
(A)  Seven (A) |
Eg)) 'SFW(t-:-Ive (B) R
ixteen
(D)  Eighteen Eg; j;gg
29.  Which of the following is not correctly matched? 29. 9 4 9 39 |E QAo e 87
(A)  Actof Child-Section-82 (A) Ry &1 BRI-gR—82
(B)  Mistake of Fact-Section-76 (B) T2 @ YA-GRI-76
(C)  Actof Judges-Section-78 (C) <IN &1 PR-GR-78
(D)  Accident-Section-80 (D)  gHeT—aR-80
30.  Which of the following Section defines Good 30. 9 # 9 3N W UR IguaEd Bl R
faith? PRl &7
(A) 52 (A) 52
(B) 52A (B) 52A
(C) 51 (C) st
(D) 50 (D) 50
31.  Aisagood swimmer Looks Bdrawing butdoes 31, 3 T 8T & & & g gU <@l & W
not try to save. A is guilty of: TN BT YA ] BT & | 3 WY 6T a9 2 ¢
(A)  Murder (A) B
(B)  Culpable nomicide not amounting to (B) oI AEad ol & TE &
murder | (C) St F & gegwIRG BT
(C)  Causing death due to negligent act (D)  foreh o a1 ) Fomam
(D) Not committed any offence
32.  Section 511 of the Indian penal code is not 32,  WR <US WfedT &Y GRT 511 o1 & &N 2 :
applicable to: (A)  rcHEAT &7 YT~
(A)  Attempt to suicide (B) TN BT YT
(B)  Attemptto rape (C) sy @1 W
(C)  Attempt to hurt (D) o o7 v
(D)  Attempt to theft
33. Injury denotes any harm caused to any person 33. g fooddy afoa @t et &1 eas ® ¢
in: (A) R
(A)  Body (B) =
(B)  Mind C) wnfa
(C)  Reputation (D) SWa i
(D)  All'the above
34.  Voluntarily contains: 34. oA H 9Afed ©
(A)  Intention (A)  3mr
(B) Knowledge (B) =™
(C)  Reason to believe (C) fiwary &1 RO
(D)  All'the above (D) SWa i
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35.  Which of the following Section defines 35.  fy=foRed # & o9 W a1 ¥ <xaraot aRaifia 2°
Document? (A) 28
(A) 28 (B) 29
(B) 29 (C) 30
(C) 30 (D) 3t
(D) 31
36.  Which of the following Section is repealed? 3. = A A o A a7 fRRYT 2?
(A) 303 (A) 303
(B) 309 (B) 309
(C) 3r4 (C) 374
(D) 492 (D) 492
37.  Which of the following is not an offence? 37. 9 # 9 B R TE ?
(A)  Attempt to suicide (A)  3MTH TN AT YIS
(B)  Vogeurism (B) SERR®Har
(C) Stalking (C) T &
(D)  Adultary (D) e
38.  Making sexually coloured remarks s 38.  cifid oMRR fewel dRer e B?
punishable? A T
(A)  One year (B) < a¥
(B)  Two year €) o= af
(C)  Three year (D) dr a¥
(D)  Five year
39.  Which of the following Section punishes 39. 9 ¥ 9 oF W uR JaaaT o Ad @
disclosure of the identity of a victim of rape? Il BT Yhed Sfoed ddl 27
(A) 228 (A) 228
(B) 228A (B) 228A
(C) 376 (C) 76
(D) 376A (D) 376 A
40.  Which of the following is not correctly matched: 40. 91 W 9 3N e gulord e ©
(A)  Dowry-Death-304-B (A)  TEIY-304—1
(B)  Rape-375 (B)  SATAT—375
(C)  Adultery-497 (C) WIRa—497
(D) Kldnapplng-363 (D) FJURIU—363
41, Mc Nau gnten case is related to: 41, HHATeT B A TR R
(A)  Necessity (A)  JgeIHAT
(B)  Insanity (B) < fagaar
(C) Intoxication (C) W
(D) Accident (D) g-ée—rﬂ-
42.  Mithu Singh Vs. state of Punjab case is related 42, {333 Rig 99 U9 159 &1 AMell THT ©
to (A) 303
(A) 303 (B) 306
(B) 306 (C) 309
(C) 309 (D) 407
(D) 497
43.  Which of the following is a continuing offence? 43, 99§ W BN TS A AR &7
(A)  Roit (A) T
(B)  Kidnapping (B)  euERT
(C)  Abduction (C) e
(D)  Rape (D) g
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44.  “In every statute Mens Rea is to be implied 4. 'yRe dfe ¥ w9 de smer IR@ T &
unless the contrary is shown.” This view was TIere A Refa faafea g1 98 far e
expressed in: ERIRIIE
(A)  Sherus Vs. De-Rutzen (A) IR T R Feom
(B) R.Vs.Dudley (B) IR ITH Sl
(C)  Harding Vs. Price (C) @Il o wrgd
(D)  R.Vs.Prince (D) 3R ¥ =1

45.  Which Section deals with Affray 45. @F A RT T F FRAT R
(A) 146 (A) 146
(B) 148 (B) 148
(C) 158 (C) 158
(D) 189 (D) 159

46.  Indian penal code contains? 46. MR 308 wigdl H GHIE ©?

(A) 21 chapter (A) 21 =™
(B) 22 chapter (B) 22 Ay
(C) 23 chapter (C) 23 y1™@
(D) 24 chapter (D) 24 gEATd

47. Affray is an offence against? 47. ST U IR 87
(A)  Body A R og
(B) State (B) I B fa5g
(C)  Property (C) vwfd o fovg
(D)  yksd iz’kkfUr (D) % Wit & foog

48.  Which of the following Section is related to 48,  f & ¥ B W ORI AT IS I TR 27
common object? (A 34
(A) 34 (B) 36
(B) 36 (C) 149
(D) 153

49.  The word “llegal” is applicable to everything 49. g ¥E S W I B AN &, o
which is: (A) R Y
(A)  Anoffence (B) fafy grr ufafdg &

(C)  Furnishes ground for civil action
(D)  SWIgd o
(D)  All'the above

50.  Nothing is an offence which is done by: 50. @I 9T STRT el §, S
(A)  Grave and sudden Provocation (A) g 3R S YA H R S
(B)  Mistake of law (B) faf & 9@ & & 9™
(C)  Self Preservation (C)  mcHeRerv # fohar S
(D)  None of the above (D) SR F W B T2

51. A a soldier, fires on mob by the order of his 51. Y & |eel & oadd # oUd ARG oNfheR &
superior  officer in conformity with the IR F Uh Afd & fis W Mol Tl 8] & o
commands of the law a has committed: o
(A)  Murder (A) &

(B) ; Culpable nomicide not amounting to (B) ORI WHgay W ge T 2
murder
. (C) U R 4
C)  Death by Negligence
ED; No Offezce 79 (D) P STRT el

52.  The death of a woman is Dowry death if it is 52. Tl N @1 4 < 4 € I 98 dING §
caused by: (A) f&f T
(A)  AnyBurn (B) INIRG &fa
(B)  Bodily Injury (C) Suo faar & W 9 & HR AW
(C) Occurs otherwise than under normal aRReifeRl & arFgem

circumstances within seven years of her (D)  SWIgd o
marriage
(D) Al the above
Series-A LLB 104 /796 Page - 8



53.  Culpable Homicide is murder, if the act by 53.  WRIf¥e HEdaY BT & I 98 B e gRI
which the death is caused is done with: T FING DI 5 81 Ba1 T 2
(A)  Intention of causing bodily injury (A TRR® &fy FIRT &= & FrerT A
(B) Intention of causing such bodily injury as B) Wi wNR® & FIRT &% @ N
is I|kelIy to cause deth - [N T FIRa 2 ST G 8
(C) Intention of causing bodily injury C) wRRe & FRd T & aEE A o
sufficient in the ordinary course of 5 : S
nature to cause death FElt @ SRR b
(D) None of the above ) ﬁﬂf W‘?S o
54.  Which of the following Section defines Grievous 54. f= & 9 9 A 97 OR SwRfT o R Rl
Hurt? ?
(A) 319 (A) 319
(B) 325 (B) 325
(C) 330 (C) 330
(D) None of the above (D) SwEE & B T
55.  Dowry Death is punishable with imprisonment 55.  Todl A o9 & PRMEM W IUSY ©
for a term: (A wa
(A)  Seven years (B) <
(B)  Tenyears _ (C) & af & o 7 fopg O et promaTe
(C) Not less than seven years but which a9 B FEm
may extend to imprisonment for life T -
(D)  Not less than ten years but which may (©) g gj ﬁ;b_q @ o L
extend to imprisonment for life
56.  Preparation is punishable? 56. AR SUSAN B?
(A)  Section 122 (A)  oRT 122
(B)  Section 125 Eg)) gRT 125
(C)  Section 399 gIRT 399
(D) Al the above (D) SwmE W
57.  Which of the following case is known as Nasik 57. 9 # 9 @M A1 AWl NG YS9 & WU A
conspiracy case: 9 &
(A)  Sarvar Kar's case (A)  HATRIR BT A=A
(B)  Tilak's case (B)  fered ar HFe
(C)  Limaye’s case (C)  form @1 Amel
(D)  Bhagat Singh’s case (D) d R @1 e
58.  Which of the following Section is related to the 58. T # 9 @9 ¥ ORI i fFrm o iR @
Hicklin Rule: (A) 291
(A 291 (B) 292
(B) 292 (C) 290
(C) 290 (D) 294
(D) 2% _
59.  Which of the following case is a case on 59. ?ﬁ H D AT AT ORT 124 A R TG AW
Section 124 A? ?
(A)  Kedar Nath Vs. state (A) fa XY 9 Y
(B)  Niharendu Dutt Vs. Emp. (B)  MEXg I M g
(C)  Q.Emp.Vs. BalGangadhar Tilak (C) I T S dTel TR ferefa
(D)  Emp. Vs. Sadashivanaryan (D) ¥R T WS 19 TR
60.  Which of the following factors separate robbery 60. 19 H ¥ B | RS Socll U ¢[C DI JUD BT
from dacoity? &?
(A)  Time (A) w13
(B)  Number Eg)) =
(C) Place T
(D)  Property (D) @l
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61. Essential for crime: 61. IR & forw AMaWF ©
(A)  Actus Reus (A) gl B
(B)  Mens Rea (B) It A Rerfy
(C)  Injury (C) f
(D)  Allthe above (D) SWied T
62.  Which of the following is not common object of 62. f # ¥ oF Y fovg SWa &1 9W= SSew
Unlawful Assembly. ERIE
(A)  To overawe by criminal force (A)  STRIRG a1 & UG GRT Al BRAT
(B)  Toresist the execution of any law (B) foell R & forwred @1 wfoRier Fve
(C)  To commit any mischief (C) fre Rfe a1 Ra @
(D)  None of the above (D) YW Y B T
63.  Consentis defined in: 63. W B oRa foar mar @
(A)  Section 19 (A)  orT 19 #
(B) Section 39 (B) T 39 #
(C)  Section79 (C) ©RI79
(D)  Section 90 (D) &1 90 ¥
64.  Which of the following Section is based on the 64. 4= § 9 o9 A IR "Tdew B gAde] haed—
maxim “Act us mens invite fact us non est M S 4 Uged” & fad W AN B -
mens act us .”. A 92
(A) 92 (B) 93
8 & o -
(D) 9 D) e
65.  Which of the following Section protects 65. T H 9 B A GRT AHEYdd ol TS R Bl
communication made in good faith? RRIETT Rl 87
(A) 93 (A) 93
(B) 91 (B) o
(C) 89 (C) 89
(D) 88 (D) 88
66.  Which of the following Section is not amended 66. = A W I W gRT qve fafdr (WeeE) SrferfH
by the Criminal Law (Amendment) Act 2013? fg;s gRT AT & 27
(A) 100 100
(B) 103 (B) 103
(C) 375 (C) 315
(D) 376 (D) 376
67.  The right of Private defence of property extends 67.  wHid @l Uigde ufoRem & AR @1 fawR g
to causing death: ETS?T A TS €
(A)  Robbery e
(B)  House breaking by night (B) Il e e
(C)  Mischief by fire (C) 3 grr Rfte
(D)  Allof the above (D) W Wl
68.  Culpable homicide is not murder: 68. MG AT 9 T Tal ©
(A)  Grave and Sudden Provocation (A) g 3R 3D FHI
(B)  Exceeds the right of Private Defence (B)  WI3dT UfRET & H™BR T Hfciehav
(C)  Exceeds the power of Public Servant (C) i Hap & A Pl 3HfcispH
(D)  Allthe above (D) ST &
69. Deo Narain Vs. State of U. P. case is related to: 69. < ARRIV 99 S0 Y0 9 AT FHRIRT 8
(A)  Accident (A) e
(B)  Right of Private Defence (B)  WIsde WfRem @7 JfBR
(C)  Robbery C) e
(D) Rape (D) e
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70.  Which of the following case is related to Justice 70. 9 H 9 59 AMa 9 SR Hdfdd aefad 27
Melvil? (A) R g Mid=T
(A)  R.Vs.Govinda (B) 3R ¥ o
(B)  R.Vs.Prince (C) 30 Yo I FM 3R, TH. AGq
(C) StateofU.P.Vs.R.S. Yadav (D) T T3 X 9 IR, R
(D)  State of A. P. Vs. R. Punnayya
71. Which of the following case is not related to 71, 99§ A B A1 AT g W AT TE 8P
murder? (A)  RoTa Rig a7 el ol
(A)  Rajwant Singh Vs. State of Kerala (B)  3R. g9 TfawT
(B) R.Vs.Govinda (C) T YS9 1Y g9 AT aﬁ'&q‘[
(C) State of A.P.Vs. R. Punnayya (D)  ORM T FERTS I
(D)  Tukaram Vs. State of Maharastra
72.  Culpable homicide is not murder when the 72. WG AM4eY T T2l § Afeae Afdd forgan
person whose death is caused suffers death T FING S A AU GG G BT e
with his own consent and his age is: BN 3N IR My e
(A)  Above Twelve year (A)  aRe 99 ¥ e
(B)  Above Sixteen year (B) e a¥ ¥ e
(C)  Above Eighteen year (C) aoRE 7t ¥ o
(D)  Above Seven year (D) @ ¥ ¥ e
73. Causing death by Negligence is punishable 73. Ve gRT g BIRG BRAT USHIA g
with: (A) T
(A)  Two year (B) WH A
(B)  Three year () daad
(C)  Five year (D) W@ af 9
(D)  Seven year
74.  Abetment of suicide of child is punishable with: 74, R @ H AT BT GIRY VS ©
(A) Death A T
(B)  Imprisonment for life (B)  amoliad HRIEAN |
(C)  Imprisonment for Ten years (C) <9 d@ $RE™ A
(D)  Allthe above (D) SWied T
75.  Hurt means: 75.  Suefa W o 2
(A)  Bodily Pain (A  TRIRS drer
(B) Disease (B) I
(C)  Infirmity C) T3P
(D)  Allthe above (D) SWied T
76.  Which of the following hurt is designated as 76. 1 A A o A SURfd OR SURfT dEerd 87
“Grievous™? (A)  gaRRI
(A)  Emasculation (B)  aRer @1 faxder
(B)  Dislocation of bone (C) afq @ Hw
(C)  Fracture of tooth (D) S i
(D)  All'the above
7. Voluntarily throwing acid is punishable with: 7. RITHAT F BHAT VSN B
(A)  Notless than five years (A) U a | FH T
(B)  Not less than Ten years (B) < I W HH &
(C)  Not less than five years but which may (C) dfg af & BH & fbwg off W 9 dF @
extend to Seven years. T &
(D)  Not less than Ten years but which may (0) <@ 9% ¥ 39 T8 g o I BRI
extend to imprisonment for life. =% & qad &
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78. A causes Z to go within a walled space and 78. W P IR W R gL RIH H Y9 IRAR $ IGH
Locks Z in, A has committed: AT T ST 21 @ ° PIfRd fbar g |
(A)  Wrongful Restraint (A) WY R
(B)  Wrongful Confinement (B) W& Uiy
(C)  Assault (C) &l
(D)  No Offence D) @ I T
79.  Which of the following right is obstructed by 79. 99 # 9 59 AGR W AEIY AR G ST
wrongful Restraint? ?
(A)  Right to Proceed (A) S BT MBR
(B) Right to Expression (B)  afafad @1 iR
(C) Right to Privacy (C)  Frorr o1 @R
(D)  All'the above (D) SR T
80. A Intentionally pulls up a woman’s veil. A has 80. & fodl B &1 duc AW gl ol B & 7 FIRG
committed: %&T g
(A)  Hurt (A) Uy
(B)  Criminal Force (B) RIS el
(C)  Criminal Intimidation (C) TR i
(D) None of the above D) R § Y B
81. A Police Officer, tortures Z in order to induce 81. @ TP Yord PR, I FI Ig ARG PR B
Z to confess that he committed a crime. A is f S Ry foar €, SaRa x4 & forv I
guilty of an offence under Section: SAT | @ g o & el 2l @
(A) 323 (A) 323
(B) 325 (B) 325
(C) 330 (C) 330
(b) 331 D) 331
82.  Atakes up a stick saying to Z,"l will give you a 82. I ¥ I8 Ped g¥ & H IR U & Th Bl 3ol
beating.” A has committed: AAT 2| B 1 HING fhar 2 -
(A)  Hurt (A) Uy
(B)  Assault (B)  &well
(C)  Criminal Intimidation (C) TR i
(D) None of the above D) R § Y B
83.  Outraging the modesty of woman is punishable 83. Tl I ool T FRAT SIS € -
with: (A) U q¥ H BH el g S UE 9 qF 8
(A)  Not less than one year but which may Aodl &
extend to five year (B) < a¥
Eg)) P'/]vo year (C) o9 a¥
ree year o
(D) Five year (0)
84.  Which of the following Section is amended by 84. 4= H 9 fow an # Tve Yy (WoiRm) eferferm
the Criminal Law (Amendment) Act 20187 2018 ERT [eH fdar mm?
(A) 354C (A) 356 T
(C) 376 (C) 376
(D) 377 D) 377
85.  Under which Section maximum punishment for 85.  FAET & foiu AfSipaH qvS 5 ORT & i
rape may be imposed? ARG o o1 W &7
(A)  376(1) (A) 376 (1)
(B) 376 (2) (B) 376 (2)
(C) 376 (3) (C) 376 (3)
(D) 376 AB (D) 376 P Y9
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86.  Which of the following offence is punishable 86. T H W P A TRY TG IUS W VST o7
with death? (A) e & forg ues
(A)  Kidnapping for ransom (B) 4T Y W P g @ Bl I AT
(B) Rape on woman under twelve years of (C) & afed gadl
age (D) S Tl
(C)  Dacoity with murder
(D)  Allthe above
87. A obtains property from Z by saying —“Your 87. BT W T PEP} AW AWMU FRar o
child is in the hand of my gang, and will be put TR R W <l @ g § 7 AR @@ e
to death unless you send us ten thousand U o B9R WU 98] U9 SN @ 98 "R STl
rupees.” A has committed? S & 3 BN b 22
(A)  Extortion (A) ST
(C)  Robbery ©)
(D)  Dacoity D) g‘cﬁ
88. A commits theft on property in Z's possession 88. TP Heol H B WHfed W F AN FRAT € IR AN
and while committing this theft, he has loaded FRA T A U A T B IR TP W g
pistol under his garment having provided this foediel Y@ & O S99 g grT ufeRy fdy o
pistol for the purpose of hurting Z in case Z B T H T P SRR B B AU U U T
should resist. Under which Section A is o | & g gr1 & 3l evedy £?
punishable? (A) 380
(A) 380 (B) 82
(B) 382 (C) 392
(C) 392
89.  Which of the following Section is not related to 89. f4F H A B9 W URT Sl A AR e 8
Dacoity: (A) 395
(A) 395 (B) 39
(B) 3% (C) 394
(C) 394 (D) 391
(D) 391
90.  Which of the following Section made attempt to 90. fTH H W P A GRT G A B YA JUSI
commit robbery punishable? AT 27
(A) 392 (A) 392
(B) 393 (B) 393
(C) 398 (C) 398
(D) 511 (D) 511
91.  Which of the following is not correctly matched? 91. 7= 4 9 39 |e GAferd T &7
(A)  Cheating-Section 415 (A)  BA-ERT 415
(B)  Mischief-Section 425 (B) Rfe—err 425
(C)  Criminal Trespass-Section 440 (C) SRS SHfraR—eRT 440
(D)  Robbery-Section 390 (D)  TC-4IRT 390
92. A Voluntarily throws into river a ring belonging 92. 39 AT | I I CUCIIEE] ¥ Wwd Bd <dl
to Z, with the intention of thereby causing g {6 9 @ 9 g™ 9eW TH FIRT | & A
wrongful loss to Z. A has committed: FRT B |
(A)  Cheating A  Ba
(B)  Dishonest mis appropriation B) gt gﬁﬁ?ﬂﬂ
(C)  Mischief EC)) Rie
(D)  Extortion D)
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93.  House Breaking is an offence against: 93. T e [hue fivg WM ¢
(A)  The public Tranquility (A) @ et
(B)  Property (B)  wwfedt
(C)  Body (C) IR
(D) State (D) 15g
94.  Which of the following Section defines lurking 9. = H 9 59 grT § y=eS B SAfdaR gREIid
house trespass? &?
(A) 443 (A) 443
(B) 444 (B) 444
(C) 453 ©) 53
(D) 455 D) 455
95.  K.V. Chacko Vs. State of Kerala case is related 95.  @. 91 AT M DR 19T AHAT FHEIRIT 2°
to? (A) sl
(A)  Dacoity (B) eI
(B) Rape C) ®a
(D) Abduction
96. S. Vardarajan Vs. State of Madras case is 96. TH. RGO a9 SN o0 Bl AT TR
related to? ?
(A)  Murder (A) &
(B)  Kidnapping (B) @R
(C)  Abduction (C) R
(D) Rape (D)  gelesi
97.  Which of the following case is not related to the ~ 97. /1 % & B &1 A JIYETS W TR Tal &7
Death Sentence? (A) SR Rig 399 S0 W0 I
(A)  Jagmohan Singh Vs. State of U.P. (B) e Rig T I
(B)  Bachan Singh Vs. State (C) #= Rig M U T
(C)  Machhi Singh Vs. State of Punjab (D) SR § P T
(D) None of the above
98.  Which of the following Section defines 98. 9 # ¥ o9 A grT AR B oRIT FRen
Defamation? 2?
(A) 499 (A) 499
(B) 500 (B) 500
(C) 501 ©) o1
(D) 502 D) 502
99. A makes an attempt to pick the pocket of Z by 99. B, T P 99 H B AR I DI g 4 HY R
thrusting his hands into Z's pockets. A fails in B UI Nl 2] T Pl o H HB | HGiK)
the attempt in consequence of Z's having IRUTRGEY & AT YIS H§ % Yedl | &
nothing in his pocket. A is guilty under which g o7 & ol <y 27
Section? (A) 379
(A) 379 B 100
EEI)) ;?? (C) 511
D) 1208 (D)  120B
100.  Abhyanand Mishra Vs. State of Bihar case is 100.  3pIF fAs oM fSER U T Al TR B -
related to: (A wTH
(A)  Attempt (B)
(B)  Abetment C) vsIH
(C)  Conspiracy (D)  whwe
(D)  Defence
dekdkdkkk
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Rough Work /X% Cap|
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for the
error he / she has made.

This Question Booklet contains 100 questions, out of which only 75
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems correct
to you, darken that option number in your Answer Booklet (O.M.R
ANSWER SHEET) completely with black or blue ball point pen. If any

examinee will mark more than one answer of a particular question, then
the first most option will be considered valid.

Every question has same marks. Every question you attempt correctly, marks
will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R ANSWER
SHEET). Answer marked anywhere else other than the determined place will

not be considered valid.

Please read all the instructions carefully before attempting anything on Answer
Booklet (O.M.R ANSWER SHEET).

After completion of examination please hand over the Answer Booklet

(O.M.R ANSWER SHEET) to the Examiner before leaving the examination

room.
There is no negative marking.

On opening the question booklet, first check that all the pages of the question
booklet are printed properly in case there is an issue please ask the examiner to

change the booklet of same series and get another one.
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